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Determine the current thi6Ugh
delta conversion.
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Time: 3 hrs.

2a.

Fie.Ql(b)

Note: 1. Answer FIYE fuL questions, choosing ONE full question from each module.
2. Missing data, if any, may'bobuitably assumed.

,""u Module-l
a. Briefly explain the classificatiq'rrefelectrical networks. (08 Marks)
b. For the circuit shown in Fig.Qlft), find the current through 30f) resistance using mesh

analysis.

OR(rt(
IOft resistance in the network

'' lSdv
"".' ., , FigQ2(a)
b:',;For the networks Shown in Fig.Q2(b) determine the node voltages Vr. Vz,

V1 P'tV Vy

Fig.Q2(b)
I of4

(08 Marks)
V3 and Va using

4JI- e+u l3JL-
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(08 Marks)
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Module-2
3 a. State superposition theorem. Determine the current tl:rfth 2C)

shown in Fig.Q3(a) using super position principle.

1sEC34
t.

resistor of the network

t&''

b. Use Millman's
Fie.Q3(b).

,,,,,*,':,,,,:,,,iil Fig.Q3(a)
theorem to".ftud the current through the 10f)

(08 Marks)
resistance in the circuit of

(08 Marks)

(08 Marks)
B for the circuit shown in

'."]"

,,,rtry
t111f$1

4 a. Veriff the reciprocity theorem
Fig.Qa(a). ,:r .1r*'

Fie Q3(t}
:ri :!

oR'.
for the\61gage V and

. c>,J> 7

cg@T, in the network shown in

+u
L,r>

Fig.Qa(a)
b. Obtain the Thevenin's equivalent circuits across terminals A and

Fig.Qa(b).,,-''', ,,1' ,-,,** 

"

,f*
Fig.Qa&)
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IVIodule-3
In the circuit shown in Fig.Q5(a), the switch f is g,fiffid from position 1 to position 2 at

t: 0. The steady state has been reached before switffi,.l$gi"Find the values of

i. gano4att=0.
' dt dt'

&ot-

lYr

Fig.Qs(a) ;'

the Fig.Q5(b), the switch is closed at t:

" R
._..-/vw__T

irD fc

L:lh

(08 Marks)
0. Obtain the

(08 Marks)
i(t) when the

(08 Marks)

'::' .::!'

lH, C =]0iiF and V6 :0. Find

v ,) -in

Iteff(,l:: ,:- ,t . .

b, For series RLC circuit, the capacitor is initially charged to lV, find the current'.:
,u,'*;a3fuitch K is closed,Q.l'.f'* O. Use Laplace.-trahsform Fig.Q6(b)
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In the R - C series circuit sh<ifin in
-.r:ttr {f;

expression for the cuo#!,"i

,-:t;,ltirUltit,

,'' '.,,,a'",,

Fie.Q6(b)
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Module-4
Derive the expressions of hulf po*.iFqu-.ies wt afld w: and also bandwidth of a sdries

resource circuit. (08 Marks)

A series RLC circuit consists of resistance of
with capacitance of 10pF. If l00V is applied as

D The resonant frequency
ii) Maximum current in the circuit
ii| Q -factor of the circuit
iv) The half-power frequencies.

I KO dnd,.aii inductance of 100mH in series

input'a,9r6ss the combination determine :

,'r'lt: ' *

.,.

,. , r:,::,. (08 Marks)

OR
8 a. Derive the expression of resonancg frequency of a parallel resonance circuit. (08 Marks)

b. For the parallel resonant circuit qhown in Fig.Q8(b), find ls, IL I. fo and dynamic resistance.

9 a. Derive the expression
b. Find the z-parameters

10 a. Drive the expression'of Y-parameters

b. Find the y-parameters of the two por't

I o o Volla

Module-S '

fo r, z::r# parameters internis pf y-parameters.
fsr,fu network showgin Fig.Qg(b).

Fie.Ql0(b)

{< * *.* *
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Fig.Qe(b)

OR
interms of transmission (ABCD) parameters.

network shown in Fig,Q10(b).

-W+I-
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(08 Marks)

(08 Marks)

(08 Marks)

(08 Marks)

-->a I

(08 Marks)


